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· How far is it from Teignmouth to Torquay =____________km.

· What is the distance between Torquay and Paignton =__________km.

· How far is it from Newton Abbot to Teignmouth =___________km.

· What is the distance between Paignton and Totnes =___________km.

· Which is the shortest distance between Newton Abbot and Paignton? 
_____________km.
How can we measure distance?
Task 1

Use your ruler and the scale line to work out the distance of:
a) Farm and the Post Office =  ..........km.

b) Post Office and the Restaurant =  ................km.
This time use your piece of string to work out the actual distance. You must follow the road and then use the scale line.

a) Farm and the Post Office =  ..........km.

b) Post Office and the Restaurant =  ................km.
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Task 4

a) Give the distance, if you were at the Library travelling to the Post Office, and then to the Supermarket.  ................................................m.
b) Give the distance, if you were at the Shoe Shop travelling to the Pet shop, and then to T.C.C. ...........................................m.
Task 2


Use the scale line from the map below to give the lengths of these lines.





a                                                    = Line a is  ................... metres (m) in length.


b                                                              = Line b is ...................... metres (m) in length.


c                                          = Line c is ............................. metres (m) in length.


d                            = Line d is ............................... metres (m) in length.
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Task 3


Use the map above and the scale line to give the straight line distance between the places below. Choose your answers from the following:  60 m    140 m   40 m   100 m


Restaurant  and the Post Office = ......................... m


Garage and T.C.C. =...................................m


Garage and the Post Office = ................................m


Supermarket and the Pet Shop = ....................................m














